Kerala Teacher Eligibility Test - September 2013 - Answer Key

CATEGORY-1I Part- 1
Question Code: 101 Sub: Child Development and
Pedagogy
Question No. Set A Set B Set C Set D
1 A B C A
2 C A
3 D D B B
4 B A C A
5 C C B D
6 A C C B
7 A A A C
8 B C C C
9 A C D B
10 D C B B
11 B B C A
12 C C A B
13 C B A C
14 B C B D
15 B A A A
16 A C D C
17 B D B C
18 C B C A
19 D C C C
20 A A B C
21 C A B C
22 C B A B
23 A A B C
24 C D C B
25 C B D C
26 C C A A
27 B C C C
28 C B C D
29 B B A B
30 C A C C
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CATEGORY-1
Question Code: 101

Part-1

Sub: Mathematics

Question No.
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CATEGORY-I Part- 1
Question Code: 101 Sub: Environmental Studies
Question No. Set A Set B Set C Set D
61 B C A C
62 B C C A
63 C D A B
64 A B B B
65 D B A D
66 C C B C
67 A A D D
68 B A B A
69 B A B C
70 D C B C
71 C A B D
72 D B C B
73 A A A B
74 C B D C
75 C D C A
76 D B A A
77 B B B A
78 B B B C
79 C B D A
80 A C C B
81 A A D A
82 A D A B
83 C C C D
84 A A C B
85 B B D B
86 A B B B
87 B D B B
88 D C C C
89 B D A A
90 B A A D




Kerala Teacher Eligibility Test - September 2013 - Answer Key

CATEGORY-1
Question Code: 102

Part- 2
Sub: Malayalam

Question No.

Set A

Set B

Set C
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CATEGORY-1
Question Code: 103

Part-2
Sub: Tamil

Question No.

Set A
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CATEGORY-1
Question Code: 104

Part-2
Sub: Kannada

Question No.

Set A

Set B

Set C

SetD
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CATEGORY-1
Question Code: 105

Part- 3
Sub: English

Question No.
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CATEGORY-1
Question Code: 106

Part- 3
Sub: Arabic
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Set A

Set B

Set C

SetD

121

A

)

A

)

122

123

124

125

126

127

128

129

130

131

132

133

134

135

136

137

138

139

140

141

142

143

144

145

146

147

148

149

150

>0 0|lg|nlg|a(m|g|al»> 00> 0lg|n(T»|00|0|>»|0|0|wm|=

>0 »|0(0|m|(F|2>|>|0|0|0|Q(0[O(TO(OQ|m|T|0|» 0> (0[O0

DJ|D|F|H=|[>|>|O|T T[0T |O|T|n|F|T[(O|>|T[(O]»[0|T|a|lT|»|T|0|0O

>0l »|d|ld|m|m >[0T T|>»0(T|T|0|T|0|T|N|=




